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sever eleTeBERSGL el wefdsEs. Gpyib: 3 wenlHAUITeOmISE
Answer all five questions Time: 3 Hours

Q1.

(@)

Q2.

(a)

BT sbuslutaig  (GRB®SEET  Setems  GFeOeiD sHemgasmen 2 HUSH
Qeulusmaner  pain 2 HuUSHSH LWEIEMNS  CaTatiBeieangiLar  Sisebuss
QuTBLE6T BIaIE aNBICWTES MWBISEDHHES sliueded il eneussllLed Geuemi(HLd.
2 _pugd enwwsEsetTer: 1, 2 wwopod 3 eigue  (pemmGwi 12, 17  wpouo 11
slUUGmasmeT @k WIGSANG CoHEsTsialammet. @eulaur® alBIGWITES HIOWIBIBEDLD
P LIsHHDG 10 slUNGmSSBMETL QuppisGsneier  Geuewiigws Cpemeu 266G
@auGeurm 2 pusHd  enwwmseleD AmBad ABCWTS  MWRISEHSSTET HITTLD

eiteupld S Leuenesstulled SruUL BHeTengi.

2 _puHSH aHCWTE embWSHDaETar SN (LosdaereD)

EDLDUILD [Distance to Distribution Center (Miles)]

(Plant) 1 2 3 4
1 800 1,300 400 700
2 1,100 1,400 ‘ 600 1,000
3 600 1,200 ° 800 900

@eauleurp SULHMSBSGLOTET siumasL Lewid (freight cost) epum 100.00. SIHBILSIT LDV
gEfihE 50 &z GFaIHSULILED Geuemi(htd (The freight cost for each shipment is Rs.100 plus

50 cents/mile).

GeusmrLLiLIBoUG:

Owrss HUUNGMSS HFUSMS GMDSHHINIGU susnasulsd (minimize the total shipping
cost) @aI@aun(y 2 _HusHd wwiEseled SHBEID sl Gzrenssmen alBIGWITS
MLLEIGELHE sliusis Di@iilmeabs Geuemi(BL?

(GO LesGmUbs  Sjw  pepenwt  (least  cost method) 2 uGurésa
syrbusgremeuud, Gwmg (MODI method) penmenw o LBWTHSH o _Hsws (optimal)

Sreleneuyd sewillG Geuiud Uy GeuewL_LILIHESSTAIT).
(Gorgs 20 ysefassi)

ABC susilurers @wm eIGsL apeolGurmenten (X) g3 50 SUTTTRIGHEN6T 2 _6nL L 6U(HL LD
geidlsd, @ euTIsIHEG 2000 HBeordymid ey eIBHH0  UWISTUGSBHIBFDSI.



®

(i)

(b)

(c)

Q3.

Q&TETaTe]  SIEISIONIG, IBHS euBLSHDSTan SLLmenulBw GFeaurs  bHu
15058 @ sLLemens@ el LHNIG Ceuigstong. capeoliGuTmsT (X) e alleneouwimen
QIBLID (PUWaSHGL HGendymd @emnG @puT.300.00 aaim  aihSHed Hlensouima:
L E G 61607 eI ATuTTHaILBHS DS @eﬁ@mﬂ(aurr@mm Gupmssrereu
GarLmisd eaHemew oy  dSywmiser  (variable costs)  @edemev,  gllemel
BIFbUeOTeTTEeMTed Sieneu  CBrpuwrs SenghdlusTancnd@ supmsluGL. SoBUyLGLIs:
Gesveureng, cpeoliQuImeder (X) elemeoulsd 25 eigd erer ST UL (HeTENG.
Gouemt_LiL(HeuGl:
sugiiuent. wrdflenwit (basic model) LWETLESHS QUIBMTBTIS SHLLMENS HENUSMS
(EOQ) semiiinip Qsuis.
(05 yelreMams
Hereud  Saldsalurar Blewasmmed QUIGTHIIS sLLmend Sauiwshdled goub
urdlenu salili® Geuis, <1 upd SFmsswrs aluflssaib.
1. 35 efmsdme Gouy ugmoiiyFGseealsd gmu®B @T =2 witey (An increase in sto
holding cost to 35%).
2. eapeotiQurmer (X) @1 efemev #Geor &Sgmb @puT. 250 & Q@b eNFS |
reduction in the price of (X) to Rs.250 per Kg). X
3. eumgld @ETNDG ULSTUGSSILGEL Gsrems 2500 HBeordymons @, Pl
(An increase to 2500 Kgs in the quantity used per week).

) (05 yetrerflee
giorefssiul L QurmemTsny slieembasaniw wrHf (deterministic model of Econon
Order Quantity) UWETUGSS ST Sedevg CQUTGHSSITE  FHSTULUSMSS S
260608 GHUTNGS.

(05 yeireflas
Deiteupid  SBeusdmemenlt LLSLGHS Boiy (A) @osrer QUIGEITHTIS SLLME

salwsmss (E0Q) sirwmefs@s.
Bameiiad (Demand) = 7200 siv@asal @@ aBLSSMES (units per year)

‘s Lemenui@ dyuwb (Order cost) = Rs. 300 @@ &L Lenendg (per order)
ugmofiyé Gesvey (Carrying cost) = 0.01Q @i Siewvdhe e aLsShE (per unit per ye
Gurmefler ouglitenL eflensv (Basic item price) = Rs.100.00
(05 yeneils
, (Qrgzd 20 yeiefs
e® GrupPriLp GsrLmisorer daumnd GrupuTGssT, Supmier GBTLIL
FIHTFeN STeld oppid Sywd DiSgiLer QEwpurBeelsd @G HTMTS Gxuilliug

gouG Guwsods Hywb CUIATD HHealGMETE HHSHHMN CBTETEMaLD.
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OzmPpuT® - FTHTyEN SJwb | FTSTTEN ST FTHMIEN SIS QB! 11
(Activity) | Gemipur® (ewumaled) (BrL.S6TMe0) [BTENTED (@MDULSTED
(Preceding [Normal cost of [Normal Time gpuGL Guoegls Syuwid
Activity) activity (in Rs.)] (in Days)] (epumedsd)
[Extra cost of reducing normal
time by one day (in Rs.)]
A - 10,000 5 3,000
B - 12,000 7 2,000
& - 5,000 9 800
D AB 6,000 10 600
E B.C 9,000 8 2,000
F C 5,000 6 900
G D.E 4,000 4 700
H D 3,000 k. 200
| F,G,H 5,000 7 2,200
J 1 6,000 12 - 500

absGaTm CeMADUTGL @ BTEDHE CLared GMNEs WQUITSHI.
SIHFILST BIaT @afpesrer Bensowrer Ggeve| apum. 800.00 aain aisHHe0 gmubLD.

GeuswtLULI(BHEUSHI:

e 2013

FrgMyem sTeGHN S LHmz Bempe CFuusDE ghuBGl Smeod, QULTHsHs Slywib

HDID DUFHILTENS STSTLSUDEND BTEWIS.

(07 yeefaei)

QeI LM Bmme| CFuzpnNGs Comeuiuiid aLesGmpBeS sre(pd (the shortest

time) oisGaH @ememhe Sywsbmsuid (associated cost) sl B .

(07 yeirerflasi)

@I LEMmE Bmmey Qsuusn&s CsemeuluGld aesGmDHEs Sywb (the lowest cost)

whp> S1ECaTH @meannbg sTevld (associated time) er@UsUDeNDS SewIIG CFuis.

(06 ysirefl@en)
(Gorgsd 20 yeefaEel)



Q4.

(a)

(b)

Q5.

()

Aesteu@mid  sreriiut gﬂ&@éélg‘,g;‘h'_l_’ wrdflemw, eefleno (PEHDHEDUL Lweiu®sd (the simple
method) Hiss SSS AleNLHMEN elenémabd (interpret the results).
Minimize 30X + 20Y

Subject to: \
jgx + 20Y - < 120
20X + 10Y > 80
20X + 30Y = 120
XY = 0

(15 ysiremes
o &@l Weaeuepd eeflu Bl FHHHL L wrHf SyUULGeTenSl-
Minimize Z = 30x + 40y + 80z ‘

Subject to:
4x + 2y > 120
4y + 8z = 160 :
x,v,z =2 O

B\([HEMLOSHSHE MLD (duality) elf@sEndE SiMDATS Gromam L (Belrs wrdfleow 9o
o FeliuBsse0 wrHflurs (@ maximization model) Lqrrp')glas.

(05 yeiea

(Quorssd 20 Leisis

BTG 6USTTIQEEIT (Trucks), BreES AUTIQSHENSBUITET H60 6VULILD oimwbBgeTeT geuibe
BLEISEHSGLD siind  enausslUL Gouaii(BD.  SUDHIDBTEN @aIbSBEST 10D
eeusum(h QueTigUild  LILIGTTTE S Geuswiigul  HyL>  (HGeor SmHmFled)  ereTLIen Westeu

o Leusnaniuded &L UL BeTengl.

 ouemngden | - AUTIQEHENBUITETIT Beneowtd (Customer Center)
(Trucks) A D

1 130 135

2 120 120

3 125 140

4 150 145

Bbs oaeslsd B MBI HEN 6T & 6TT BHEHH0 Q@meTeTULL Beuet(BHLb:



(b)

(i)

(PHEOTEUG: 6uewTy @evdbasd: 3 Genen sumgaisscn&,u_lrrm' b'o?LD ' “C” @?J% @gj ai’@
Qe puITg). BJeNiLTeugl, eustly @evssld: 4 @sznsur\ eum%&.smﬁmrrmrr enowiwid “D”
AnEg @#HeSH U (WpQurgl. BTG alsmxg&,aﬂmaig @mg,g;u (Surr&,@mug)@
FIHMS BWPuBSS5HHH  euemsuled  euewmIg- sums;assmasmrrmrr L EDDUITEIS (EThE B TET
SISl ener ConbsTes.

(10 yeefasen)
XYZ swueluls posreownerg, afiaumd  yaeumL  sTesHhbsear  yHuGsTm
lemenur GBI QUTmensT oPpsd QFuluBT SieDLH  @edeneowim  elen  HioTellbs
Gousmnguysiteng). ige et @elahusd WwWhHdH BoLBFnssluL s sagubsTaimTELD.
Aeaelememun GUOUT et 2 _Hushd QeFug FHaoslUUuGSSIusDHETE  CLTSSH GFava)
qpuT  500,000.00 elemeyd, SBHLET 2 pudsd GElwinGh  @ellsurm SIS
sfenenwn GUOUTHEBSGID  apum. 15.00 Geeveaur@td eer WA OU GeTeng. GPSHS
efememuTl BUOUTHET @&TnD (VG @TEMD) (hHUT. 35.00 BmeE elbm UGBTI FLL
(PQUILD eTesIeYD ETATUTTSSUILIBSTTDS.

2 pusHd GFOwnu@Gd @alamm oivg elmerur BGUELTHEHLY  alHaULL(PIQU|D
aEums aBCsraas Gsram®, 2 Husd whpw elpusmer GELWLLGD DI60G 61l
sgliuemLuled, @eorusmss sl Gsuspstar saisfdurar wrHfGwrEmn (a

mathematical model) 2 _(pours@Hs.

@eoru-pl LD Sipm Usitefenws (break-even point) sewlii® Geuls.
(10 yemrefaei)
(Quomg s 20 Leiteflae)



